UNITED INDEPENDENT SCHOOL DISTRICT DISTRICT WIDE UNIFORMS & FOOD SERVICE SPECIALTY UNIFORMS RFP 2012-073

VENDORS	Discount Uniforms	GA Advertising	Indoff, Inc.
Percentage Discount	0%	0%	5%

SECTION I: DISTRICT WIDE UNIFORMS WORK SHIRTS / PANTS / JACKETS

VENDORS Discount Uniforms GA Advertising	Indoff, Inc.
--	--------------

Item 1 Departments: Transportation (Bus Drivers & Monitors), Facilites, Support Services / Custodial Dept, Food Service (Drivers), Eng/Env Mgmt & Athletics

65/35 Work Shirts	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
03/33 WORK SHIFTS		\$23.50	\$70,500.00	\$17.21	\$51,630.00	\$20.00	\$60,000.00
Ref: VF Imagewear SP14/ SP24 / SP10/ SP20 or equal	3,000	RedKap		RedKap14/24/ SP10/SP20		RedKap SP14/SP24	
Probable colors: White and GM Blue/ White Stripe, L Blue, White/Charcoal Stripe and Blue/White Stripe, C	-	Maybe some colors & siz UP \$3 more	es, backorder Stoxi; 2XL &	White. Lt tan, lt blue Blue/White, Wh/cha	r, navy, LB/Navy, GM		narcoal, brown, dark blue, navy blue, royal blue, red, low pg 38-39

Item 2 Department: Facilities (Supervisors)

65/35 Supervisor Shirt w/ Custom Embriodery	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
		\$23.50	\$587.50	\$19.72	\$493.00	\$20.00	\$500.00
Ref: VF Imagewear SP 14 / SP 24 or equal	25	2XL up \$3 more		RedKap SP14/SP24		RedKap SP14/SP24	
Probable colors: White				white, LB blue, navy reg & long sleeve on	, Lt tan, postman blue, (It green lv)		narcoal, brown, dark blue, navy blue, royal blue, red, low pg 38-39

Item 3 Departments: Transportation (Bus Drivers & Bus Monitors), Facilities , Support Services / Custodial Dept, Food Service (Drivers), Eng/ Env Mgmt, Athletics & Construction

65/35 Work Pants	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
Ref: VF Imagewear PT 20 / PT 50 or equal	3,000	\$18.50	\$55,500.00	\$17.33	\$51,990.00	\$18.75	\$56,250.00
Probable colors: Navy, Spruce Green, Tan		RedKap 28 to 36): 38 to 67 S3 more			Navy, black, cha spruce green	rcoal, brown, khaki,

VENDORS		Discount Uniforms		GA Advertising		Indoff, Inc.		
Item 4 Department: Facilities (Electricians) & Food Service (Mechanics)								
Est. Qty		Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price	
100% Wrinkle-Resistant Cotton Shirts	50	\$23.50	\$1,175.00	\$21.38	\$1,069.00	\$21.00	\$1,050.00	
		Red Kap Stoxi 2XL up \$3 more		PodK	RedKap SC30/SC40		RedKap	
Ref: VF Imagewear SC 30 / SC40 or equal		Red Rap Stoxi	ZAL up 33 more	RedRap 3C30/3C40		пеикар		
Probable colors: Khaki				Khaki, Dark Navy, G.Gray, Lt blue, Spruce Green, navy		navy blue, It. blue, white, spruce green		

Item 5 Department: Facilities (Electricians & Welders), Food Service (Mechanics)

	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
100% Wrinkle-Resistant Cotton Pants		\$20.50	\$1,025.00	\$24.28	\$1,214.00	\$21.00	\$1,050.00
	50	RedKap 28 to 36; 38 to 44 \$3 more		PodKan DO	C20 includes heming	RedKap PC20 46-up	
Ref: VF Imagewear PC 20 or equal				Redrap FC20 includes helling		πεακάρ FC20 40-αρ	
Probable colors: Spruce Green					own, charcoal, dark navy, vy, postman blue		

Item 6 Department: Facilities (Welders)

100% Specialty Welding Shirts	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
100% Specialty Welding Shirts	10			\$25.88	\$258.80	\$35.00	\$350.00
Ref: VF Imagewear or equal	10	no bid		VF Imagewear SD78DN		RedKap SC70	
Probable colors: Khaki		Ī		Denim page 16		Navy Blue, Khaki	

Item 7 Department: Facilities (Groundsman)

65/35 Hi-Visibility Shirts w/ Reflective Tape	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
03/33 HI-VISIDIIITY SHIFTS W/ Reflective Tape	60	\$23.50	\$1,410.00	\$27.22	\$1,633.20	\$45.00	\$2,700.00
Ref: VF Imagewear or equal	60	Red Kap 2XL up \$3 more		VF Imagewear SP14EV		RedKap 2940	
Probable colors: Lt. Tan				Navy		lt grey, khaki	

Item 8 Department: Facilities (Groundsman) *only 1 jacket will be purchased for each employee as needed

65/35 Hi-Visibility Jackets w/ Reflective Tape	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
03/33 Hi-Visibility Jackets W/ Nellective Tape	15	\$32.50	\$487.50	\$49.31	\$739.65	\$65.00	\$975.00
Ref: VF Imagewear or equal	13	Red Kap 2XL up \$3 more		VF Imagewear JT30WM		RedKap	
Probable colors: Spruce Green				Charcoal page 124		black, brown, charcoal, navy blue	

VENDORS	Discount Uniforms	GA Advertising	Indoff, Inc.
---------	-------------------	----------------	--------------

Departments: Transportation, Facilities, Support Services / Custodial Dept, Eng/Env Mgmt & Athletics *jackets are only purchased as needed & are not projected for ltem 9 purchase every year

65/35 Work Jackets	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
	997	\$36.50	\$32,375.50	\$34.30	\$30,424.10	\$40.00	\$35,480.00
Ref: VF Imagewear or equal	887	RedKap 2X	L up \$3 more	VF Imagewear JT22		RedKap JT22	
Probable colors: Sprue Green, Brown Charcoal & Nav	У				Spruce Green, Brown, Charcoal, Navy, Black		

Item 10 Department: Food Service (Cafeteria Mangers, Supervisors & Caterers)

	Est. Qty	Unit Price	Ext Price	Unit Price Ext Price		Unit Price	Ext Price	
65/35 Pleated Brush-Twill Dress Slacks		\$19.50	\$1,950.00	\$25.28	\$2,528.00	\$20.00	\$2,000.00	
	100	PodVan 20 to 26	5 38 to 50 \$3 more	VF Imagewear F	T38 / Ladies PT39 include	Educ	ards / DT 22	
Ref: VF Imagewear or equal		Reukap 28 to 30	38 to 30 \$3 more		hemming	Edwards / PT 32		
Probable colors: Navy, Black, Charcoal & Khaki				black, charcoal, khaki, navy				

Item 11 Department: Food Service (Cafeteria Mangers) & Construction Dept (Supervisors)

60/40 Oxford Executive Shirts with Custom	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
Embroidery		\$23.50	\$3,525.00	\$23.22	\$3,483.00	\$20.00	\$3,000.00
Ref: Edwards or equal	150	RedKap 2XL \$3 more		VF Imagewear SR 70		Edwards #1077	
Probable colors: White, Blue, Tan, Yellow, Burgundy Stripe & Blue Stripe				White, Blue/Wh blue, gray/white	ite stripe, solid gray, lt e stripe, pge 22		

Item 12 Department: Food Service (Supervisors & Caterers), Technology, Fixed Assets, Records Mgmt & Print Shop

65/35 Poplin Executive Shirts w/ Custom	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
Embroidery	300	\$23.50	\$7,050.00	\$22.69	\$6,807.00	\$24.00	\$7,200.00
Ref: Edwards or equal	300	RedKap or Blue Generation		VF Imagewear SP 90		Edwards	
Probable colors: White, Black, Denium Blue, Navy, Purple, Red, Royal Blue, Tan, Teal Green, Wine, Yellow, Rust, French Blue & Espresso (must have a large selection of colors)		2XL up	1 SR more	Black, burgundy, blue, white, red,	khaki, It blue, navy, royal silver grey pg 20		

VENDORS	Discount Uniforms	GA Advertising	Indoff, Inc.
Note:	necessary for a few dept. like jackets.	They have offered once complete orders are done and overall analysis of program to do a rebate or donation to UISD ranging from 1.5% to 3% + depending on final numbers.	
TOTAL FOR SECTION I	\$175,585.50	\$161,419.75	\$186,305.00

SECTION II: SECURITY OFFICER UNIFORMS

VENDORS	Discount Uniforms	GA Advertising	Indoff, Inc.
---------	-------------------	----------------	--------------

Item 1 Department: Police Department

Security Shirts -	Est. Qty	Unit Price	Ext Price	Unit Price Ext Price		Unit Price	Ext Price
OPTION 1	300	\$23.50	\$7,050.00	No bid		No bid	
Ref: Dickies LL508 or	300	Dickies 2XL	UP \$3 More				
Probable colors: Grey				1			

Item 2 Department: Police Department

Security Shirts -	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
OPTION 2	300	\$23.50	\$7,050.00	\$20.50	\$6,150.00		
Ref: Dickies LS504 or	300	Dickies 2XL	VF Image	ewear SP 56	No	bid	
Probable colors: Grey, L	t Blue			•	um blue, navy, hite	NO	biu

Item 3 Department: Police Department

Security Pants	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
Security Parits		\$22.50	\$6,750.00	\$19.57	\$5,871.00		
Ref: Dickies 8038 or equal	300	Dickies sizes 30-42			ar PT62 custom nem	No	b bid
Probable colors: Navy				black, charcoal page 43	, khaki, navy		

TOTAL FOR SECTION II	\$20,850.00	\$12,021.00	\$0.00
----------------------	-------------	-------------	--------

SECTION III: FOOD SERVICE SPECIALTY UNIFORMS SCRUBS / BUTCHER COATS

VENDO	RS	Discount Uni		: Uniforms	Uniforms		GA Advertising		Indoff, Inc.	
Item 1 Department	:: Food Service (Cat	feteria Cooks)							
65/35 Printed V-Neck	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price	
Scrub Tops	1 200	\$14.00	\$18,200.00	\$13.50	\$17,550.00	\$15.31	\$19,903.00	\$18.00	\$23,400.00	
Ref: Cherokee	1,300	Che	Cherokee Dickies		ickies	Cherokee 4700 (solid)		Cherokee		
Probable colors: Depart from available fashion patterns/colors - must colors	rinted	25 co		colors		se	veral			

Item 2 Department: Food Service (Cafeteria Cooks)

65/35 Elastic Pull on	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price	
Pants	1,300	\$14.00	\$18,200.00	\$13.50	\$17,550.00	\$13.02	\$16,926.00	\$16.00	\$20,800.00	
Ref: Cherokee	1,300	Che	erokee	D	ickies	Cherokee	Cherokee 4100 (solid)		Cherokee	
Probable colors: Depart from available fashion p patterns/colors - must c selection of colors	rinted		25 c	colors		se	veral			

Item 3 Department: Food Service *only 1 coat will be purchased per employee

65/35 Bucther Coats	Est. Qty	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price
65/55 Buctilei Coats		\$24.50	\$490.00	\$24.69	\$493.80	\$37.00	\$740.00
Ref: Red Kap or equal	20	Red	dKap	VF Imagewear	KT50WH	Red	dkap
Probable colors: White						White	

	w/Cherokee	w/Dickies		
TOTAL FOR SECTION III	\$36,890.00	\$35.590.00	\$37,322.80	\$44,940.00

QUESTIONS

Vendor	Discount Uniforms	GA Advertising	Indoff Inc.			
1) Are all of the prices that you provided inclusive of all charges: i.e. emblems, embroidery, colors, sizes, delivery charges, etc?						
	Yes	Yes	Yes			
2) Will you be able to comply with the 60 day delivery requirement? If not, what is your estimated delivery time?						
	Yes	Yes	Yes			
3) What is your method for shirt employee identification?						
	Embroidered patches will sewn to shirts.	Direct embroidery & silk screen patches	silk screen, direct embriodery			
4) Does your company carry sizes beyond 6XL and on? If so, which styles and colors?						
	If Red Kap company provides	If Red Kap company provides	No			
5) Which method(s) of fitting are you offering; hand-fitting, or fitting through uniform samples.						
	Will not hand fit - need to provide sizes.	Uniform Samples	Uniform Samples			

Three (3) vendors submitted a "No Bid"